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In AABC the following relationship holds:

s < abc(b + c)w,
“"(a+b)la+c)b+c—a)

Proposed by Alex Szoros-Romania

Solution by Soumava Chakraborty-Kolkata-India

b — B-C_ . A A_ A( B-C B+C)
¢~ a = 4Rcos - cos cos - sin— = 4Rcos > | cos — cos —
_ ercos  sin® sin ©
= 8Rcos - sin sin 5
@ A B C
=>b+c—a 8Rcoszsmzsm2
Now,S(a+b)(a+c)(b+c
)"Y,_Sl)s(m C A—B)(4R B A—C)8R A B _ C
a) = €os 5 cos €os - Cos— cos sin sin
< 2rs(4R)*cos C cos B A_B_C(”0< A-B A—C<1)
< 2rs €0s €O COs - sin o siny | - €os——,cos— ; o

—2(4R' A B . C)<4R A B C(4R)3 C B . .
= sin 2 sin - sin C0S 7 €OS - COS 2) C0s; €os 5 cos sin sin g



R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro
_, (4R A A) (4R B B)Z (4R . C C)Z A
= sin > cos > sin > cos > sin > cos > cos >

2bccos %
e = abc(b + c)w,

A
— 2.2 COSE —
= 2ab?c BTec (b + ¢) = abce(b + ¢)

abc(b + c)w,

>SS b)a+ b +c—a)

(Proved)



